
 

D l E n EG prove me ntz

is not divisible by 10

hit me 3 X
n 2 n 4 x none of these
9 3 m 5 x divisible by lo
n 4 n i G X
n 5 m 7 Proof byexhaustion6 mi 8 x

3 12 I 1 4 5
22 d t 9 13

I an odd
L 25 36 G IS 25 Proof Sg
62 36 361 49 85
2 exhaustion
7 49 491 64 113

8 i 64

5 a n n is divisible by 4

24 z 16 2 14 not divisble by4
not true as counter example shows

5 2 1,2
I 1,3
4 l Z Q f

not all integers have even number of factors

Proof Exercise 7E



c 2h2 but I tire for all n

n 4 2cal Gcc I 3
So not true for all u

d 2T Zn 4 is a multiple of 3
for all integers n

n 3 2h35 2C3 4
18 6 4 8

8 not divisible by 3
o not true for all integers n

7 Prove xtc I 2 11

Consider set 6
t 2x 11

x't 12 36 Zsa il

x2t 10x t 25

a 572 70

a XX657 2x til



9 Prove ptg 714Pa
jottings pty 7 4PV

Arithmetic mean p

Geometric me jpg
419 64

147 6

Assume p q 0

Consider Ip Tg p t q 25p II s O

p q 14Pa O

i ptg 545W

b
p q 9

p q 13 14C4K9 12

13 12
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